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tokens = { 
 
<>  t_tag 
101.8    t_numero 
.f. t_false 
.t. t_true 
"xx" t_string 
'xx' t_string 
l(l|n|_)* t_letra 
',' t_virgula 
'.' t_ponto 
';' t_ponto_e_virgula 
'+' t_mais 
'-' t_menos  
'*' t_vezes  
'/' t_divisao 
'(' t_abre_parentesis 
')' t_fecha_parentesis 
 
 
} 
 
 
Regras 
 
[001] <programa> ::= <decl_classe> <diretivas> <funcoes> 
[002] <decl_classe> ::=  ‘#’ ‘CLASSE’ <id> <cr> 
[003] <diretivas> ::=  <diretiva> <diretivas> 
[004]   | <diretiva> 
[005]   | <e> 
[006] <diretiva>  ::=  ‘#’ <defs_incs> <cr> 
[008] <defs_incs> ::= <define> 
[009]   | <include> 
[010] <define>  ::= ’define’ <id> <numero>  
[011]   | ‘define <id>  
[012] <include>  ::= ‘include’ <string>    
[020] <funcoes> ::= <funcao> <funcoes>  
[021]   | <funcao> 
[025] <funcao>  ::= 'Function' <id> <resto_funcao> 
[026] <resto_funcao> ::= '(' <argumentos> ')'  <cr> <comandos> %fim 
[027] <argumentos> ::=  <argumento> ‘,’ <argumentos> 
[028]    | <argumento> 
[029]   | <e> 
[030] <argumento> ::= <id> 
[032] <comandos> ::=  <comando> <cr> <comandos> 
[033]  |  <comando> <cr> 
[035] <comando> ::= <id_empilhado> <chama_funcao>  
[040]   | <cmd_if>  
[045]   | <cmd_for_next>  
[050]   | <cmd_do>  
[055]   | <id_empilhado> <resto_atribuicao> 
[060]   | <cmd_arroba>  
[065]   | <cmd_menuto>  
[070]   | <decl_variaveis> 
[075]   | <cmd_exit> 
[080]   | <cmd_loop> 



 95

[085]   | <cmd_skip> 
[090]   |  <cmd_go> 
[095]   | <cmd_tag> 
[100]   |  <cmd_print> 
[105]   |  <cmd_println> 
[110]   |       <cmd_return> 
[115]   |       <cmd_set> 
[120]   | <cmd_close> 
[125]   | <cmd_select> 
[130]   | <cmd_seek> 
[140]   |           <cmd_replace> 
[145]   | <cmd_unlock> 
[150]   | <cmd_use> 
[155]   | <cmd_declare> 
[185] <chama_funcao>  ::= '(' <parametros> ')' 
[190] <parametros> ::=  <parametro> ‘,’ <parametro> 
[191]    | <parametro> 
[192]   | <e> 
[195] <parametro> ::= <exp_logica> 
[205] <cmd_if>  ::= <cabecalho_if) <cr> <comandos> <resto_if> 
[207] <cabecalho_if> ::= 'if' <exp_logica) 
[210] <resto_if>  ::= 'endif'  
[215]   | 'else' <cr> <comandos> 'endif'  
[220] <cmd_for_next> ::=  'for' <variavel_for> <inicio_for> <ate_for> <passo_for> 
<comandos> 'next' 
[221] <variavel_for> ::= <id> 
[222] <inicio_for>  ::= <sinal_atribuicao> <expr>  
[223] <ate_for>  ::= 'to' <expr>    
[224] <passo_for> ::=  'step' <expr>   
[225]   | <e> 
[230] <cmd_do> ::=  ' do' <resto_do> 
[235] <resto_do> ::=  <cmd_while> 
[240]   | <cmd_case> 
[245] <resto_atribuição>::=  '=' <exp_logica> 
[250]   | ':=' <exp_logica>  
[252]   | '+=' <exp_logica>  
[253]   | '-=' <exp_logica>  
[254]   | '*=' <exp_logica>  
[255]   | '/=' <exp_logica>  
[260] <cmd_arroba> := '@' <expr> ',' <expr> <resto_arroba> 
[265] <resto_arroba> ::= <cmd_box>  
[266]   | <cmd_say>  
[267]   | <cmd_get> 
[268]   | <cmd_prompt> 
[270] <cmd_box> ::= ',' <expr> ',' <expr> 'box' <tipo_box> 
[272] <tipo_box> ::=  'SIMPLES'  
[274]   |  ' DUPLO'   
[280] <cmd_say> ::= 'say' <exp_logica> 
[285] <cmd_get> ::= 'get' <id> <picture> <clau_valid> <clau_when> 
[290] <picture>  ::=  ‘pict’ t_string 
[291]   | <e> 
[293] <clau_valid> ::= ‘valid’ <exp_logica> 
[294]   | <e> 
[296] <clau_when> ::= ‘when’ <exp_logica> 
[297]   | <e> 
[300] <cmd_prompt> ::= ‘prompt’ <exp_logica> 
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[310] <cmd_menuto> ::= 'menu' 'to' <variavel> 
[311] <variável> ::= <id> 
[312] <decl_variaveis> ::= <tipo_decl> <lista_variaveis> 
[313] <tipo_decl> ::= 'private'  
[314]   |  'public'  
[315]   |  'local' 
[317] <decl_variavel> ::=  <id> 
[318] <lista_variaveis> ::=  <decl_variavel> ',' <lista_variaveis> 
[319]   | <decl_variavel> 
[320] <cmd_while> ::= ‘while’ <exp_logica> <comandos> 'enddo' 
[325] <cmd_case> ::= 'case' <itens_case> 'endcase' 
[330] <itens_case> ::= <item_case> <itens_case> 
[335]   | <item_case> 
[340] <item_case> ::= 'case' <exp_logica> <comandos> 
[341]   | 'otherwise' <comandos> 
[345] <cmd_exit> ::= 'exit' 
[346] <cmd_loop> ::=  'loop' 
[347] <cmd_skip> ::= 'skip' 
[348]   | 'skip' <expressao> 
[350] <cmd_go> ::= 'go' <expressao> 
[351]                   | 'go' ‘top’    
[352]   | 'go' ‘bott’   
[355] <cmd_tag> ::=  '<' '>' <texto_tag> 
[360] <cmd_print> ::= ‘??’ <exp_logica> 
[365] <cmd_println> ::= ‘?’ <exp_logica>   
[366] <cmd_return> ::= ‘return’ <exp_logica> 
[367]    | ‘return’ ‘NIL’ 
[370] <exp_logica>  ::=  <exp_logica> '.and.' <sn_condicao> 
[371]    |  <exp_logica> '.or.' <sn_condicao> 
[372]     |  <sn_condicao> 
[380] <sn_condicao>  ::=  ‘.not.’ <exp_condicional> 
[381]                             |  <exp_condicional> 
[385] <exp_condicional>::= .t. 
[386]   | .f. 
[387]   | <condicao> 
[390] <condicao> ::=        <condicao> '>' <expressao> 
[391]       |          <condicao> '<' <expressao> 
[392]       |         <condicao> '>=' <expressao> 
[393]      |         <condicao> '<=' <expressao> 
[394]       |         <condicao> '<>' <expressao> 
[395]       |         <condicao> '!=' <expressao> 
[396]       |         <condicao> '=' <expressao> 
[397]       |         <condicao> '==' <expressao> 
[400]   | <expressao> 
[405] <expressao> ::= <expressao> ‘+’ <termo> 
[410]   | <expressao> ‘-‘ <termo>  
[415]   | <termo> 
[420] <termo>  ::= <termo> ‘*’ <incremento> 
[421]   | <termo> ‘/’ <incremento> 
[422]   | <incremento> 
[423]   | <termo> ‘%’ <incremento> 
[425] <incremento> ::=  ‘++’ <unario>  
[426]   | ‘--‘ <unario>  
[427]   | <unario> ‘++’  
[428]   | <unario> ‘--‘ 
[429]   | <unario>   
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[430] <unario>  ::= ‘+’ <fator> 
[431]   | ‘-‘ <fator> 
[432]   | <fator> 
[435] <fator>  ::= t_numero 
[440]   | t_string  
[445]   | ‘(‘ <expressao_logica> ‘)’ 
[450]   | <id_empilhado> 
[455]   | <id_empilhado> <chama_funcao> 
[456]   | ‘select’ ‘(‘ ‘)’ 
[457]   | ‘chr’ ‘(‘ <expressao_logica> ‘)’ 
[500] <cmd_set> ::= ‘set’ <id> ‘on’ 
[501]    | ‘set’ <id> ‘off’ 
[503]    | ‘set’ ‘order’ ‘to’ <expressao>   
[505]    | ‘set’ <id> ‘to’ <expressao>   
[507]    | ‘set’ ‘softseek’ ‘on’ 
[509]    | ‘set’ ‘softseek’ ‘off’ 
[510]    | ‘set’ ‘printer’ ‘to’ 
[511]    | ‘set’ ‘printer’ ‘off’ 
[512]    | ‘set’ ‘printer’ ‘on’ 
[530] <cmd_close> ::= ‘close’ ‘all’ 
[540]    | ‘close’ ‘(‘ t_string ‘)’ 
[550] <cmd_select> ::= ‘select’  t_string  
[552]    | ‘select’  <id>  
[560] <cmd_seek> ::= ‘seek’ <expressao> 
[570] <cmd_replace> ::= 'replace' <resto_replace> 
[572] <resto_replace> ::= <id> 'with' <expressao> [‘,’|’;’] 
[576] <cmd_unlock> ::= ‘unlock’  
[580] <cmd_use> ::= ‘use’ <id>  
[582]    | ‘use’   
[600] <cmd_decl> ::= ‘declare’ <id> ‘[‘ <exp_logica ‘]’  
[800] <id_empilhado> ::= <id> 
 


